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| 1LAJiy
Mass of water molccule is. | ‘ S b ANJRLY, 1
. 3x10%g (DY 2907 © 610y ®) 6x10g . (A)
Whiqhoneofmefonowingismegnaﬂenqumﬁty? ?;.J,;a_qztﬁgufc_‘;ktsw 2
5000 ng (D)  2mg ©  100mg (®) 001g W]
| Which of the following s & vecter quantity 7  reibsoe o | 3

- Power s} [6)) Displacement a3 (O Dis_tanée o6 (B)  Speed Ly (A

wh;chéfﬁm following is the unit of momentum? - - | ¥y L g 4
~ Ns'(@  Kgms” (O .- ‘ Nm ®) NS (W)
Secondcondiﬁonfmqmmmimpmmedmammaﬁmuyu bl ,,u:;,,bqvn;u/;,{ Aud| s
YF,=0 @ SF,=0 © TF=0® XT=0@
| The mumber of foroes that oan bo added head to tail ule aro PG uf S S it k| 6

2 (D) 3 (© 4 (B)  Anymmber IS0 O
gL pltie kil <3S g 7

The value of ‘g’ ata height one Earth’s radius above the surface of the Earth is.

g @ 2g © g @ 2g (A)

The work done will be zero when the angle between the foméandthe distance is. 4_rn,,uuyg,ﬁ.1-w,u)).,a(n){.fu 8
90° (D) 180° (C) 60° (B) 45° (A)

n which of the following state molecules do not leave their position? e 238 Ry IR L sl ol | o
Liquid & (D) Gas (O  solid u# (B) Plasma L (A

vegéna’fbmdquiJ&-’e’rf—Wwb’Jk 10

What should be the approximate length of a glass tube to construct a water barometer ?

2.5m (D) 1lm ¢C) im (B) 0.5m (A)

Water freczesat. - ) | stecrdig g4 1
32°F(D) ok (© -273K (B) 0F X

The major sourco of heat energyis. - - BL12¥ A el $67 3 12
Water (i (D) Barth [e£ (C) S Gur B  Moon £ (A
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* QNo2: Write short answers to any five of the followings.  5x2=10 Z P b s 240
What is International system of Units ? S eS|
Define least count and write the least count of vernier callipers. -_d" (1% 3) ;‘:f Hon mZE P Sassbed | i
Why do we need of measure extremely small interval of time ? ¢ e Joulan Ala Ul L5t | i
Differentiate between positive and negative acceleration. IS LS ;‘f-(l}:g sEIY | v

e LSt S K 100 336 12 GG | v
A sprinter completes its 100m race in 12s. Find its average speed.

Convert 1ms ' into Kmh™ Ede LBIRE I K | Vi
Define momentum and also write its unit. -g_‘! Sz y 75y | vii
Write two disadvantages of friction. & etidn Lo | i
Q.No.3:  Write short answers to any five of the followings. 5x2=10 -q‘{‘(j’ S Y &pl?lél.:_u:‘bbu 314U
What is global positioning system ? | Sy By |
Define gravitationsl ficld strength. Eylseiw eS| i
What is field force ? S dnf Ui |

by q_t’/ J‘; /G -{l f U)JEIJ:IH&ZL&J‘(: iv

How Moon is far from the Earth and compléete one revolution in how many days ?

What is meant by the force of gravitation ? S eS8 S I | v

e B AS e B4 3m S Ll S K50 | vi

A body of mass 50 Kg is raised to a height of 3m. What is its potential energy ?
Differentiate between sound energy and light energy.

-3 ps G | vii

| Define Kinetic Energy and writo its formul. i WS s P SN G| it
Q.No.4:  Write short answers to any five of the followings.  5x2=10 e B Lanbie Sdits 4 )y
Does there exist a fourth state of matter? What is that? ?q.y(u?q.:hb'dbf gdnl| i
State Pascal’s law 7 o8 FL | i
Define matter and write name of its three states? Zul oot Sty ] i
Why does heat flow from hot body to cold body ? e fudIpS P ettt S ez |
What is meant by clinical thermometer ? S e llfe KL G S
Why metals are good conductors of heat ? ¢ Wl S s L | vi
Define conduction. EEFY | i
Write throe ways of transfer of heat. Dl oa )L PNz | i
Part ID 3.0
Note: Attempt any two questions from this part 9x2=18 e latrulfalou od
With the help of speed time graph prove that $ = Vit + - L a2 S=Vit+— at2 Sy St S ety | W AUy
5 ¢ S St 4.£Ll,Lg)J4.sbgc_uUfl£ 2ms? U1 - 20Nk gl | @)
A body has weight 20 N. How much force is required to move it vertically upward with an acceleration of 2ms > ?
143 ZriehdeSuaZuwui oS | W 640

State law of Gravitation. Derive a mathematical equation for it

s g St ¢ 20ms™ Lrdw0n 126N LT | (B)

A car weighing 12 kN has speed of 20ms™' . Find its Kinetic energy
‘What is Young’s Modulus ? Derive its formula.

L BN K | (W) AU
5 -i,_t,y B st et 98.6F £AUA6 70U | (B)

Normal human body temperatures is 98.6 °F. Convert it into Celsius scale and Kelvin scale.
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CorarP b 2uf I L s SL S S ML S S Tl ie L s A e B TS 07 38 Ol
1Ay
Tn Binsteins mass-encrgy equation, *C” is the. <t S C Lene AT | 1
Speed of Sound LT (B) Speed oflight L f*s (A)
Speed of earth £z (D) Speed of electron LS 1 (S
¢ e b/ LEAR S LI ol b Lipue | 2
Which one of the following converts light energy into electrical energy ?
| Electric Generator %2/ 81 (B) Electric Bulb bt /281 CO
Electric Cell (&S (D) Photocell (£'74(C)
In which of the following state moleciles do not leave their position ? ¢ L Ay iR Aol ful| 3
Plasma Lt (D) Gas ¥ (©) Liquid & (B) Solid # (X
Water freezes at tear g gV 4
0K (D) 213K (C) 32 °F (8) 0 D
In gases heat is mainly transferred by. e K7 SP1of 2 | s
Conduction (4 (B) Molocules Collision #.¥7c2L (A
Radiation ¢HMIfks (D) Convection £+ (©)
In solids heat is transferred by. < IM= 7Bk | 6
Conduction 2 (B) Radiation ¢ifds (A
Absorption %11 (D) Convection ¢+ (C)
Aninterval of 200 ps is equivalent to. gl B L\ 200 7
2x10° s (D) 2x10™s (€) 0.02s (B) 0.2s (A)
Which one of the following is the smallest quantity ? fe et sl e lditn | 8
5000 ng (1')/) 100 pg (C) 2 mg (B) 001g W
A change in position is called. e dWde Lty 9
Distance LG (D) Displacement 2% /3 (C)  Velocity (0 ®  Speed Ly (A
Which of the following is the unit of momentum? e N e s gair | 10
Ns' (D) NS (©) Kgms? (B) Nm (A
The mumber of forces that can be added by head to tail rule arc. - Guf I e ki | 11
Any number sLIT3S @) 4 © 3 (8) 2 W
Eatth gravitational force of attraction vanishes at. e Dentiud P S8ets | 12
1000 km (D) 42300 km () Infinity (Jslizsssy (B) 6400 km (A)
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Q'No.2: Write short answers to any five of the followings. 5x2=10 i feyz P Linbie Abits 24y
What is meant by physical quantities? Write its two examples. _.2( g)‘-’@‘» duis &« /F;Uuiﬁf i
Describe significant figures. Write its one example. e ke s | i
What are prefixes ? Write it one example. .g S Jt"..{l § u!y'/‘ Uy | iii
Differentiate between rest and motion. -c{ ukJ)uﬁ Sraieds | iv
Differentiate between distance and displacement. -g@k&)ﬁ%dbﬂkﬁ v
Define uniform velocity. | -_! 2SS vty | vi
Define Dynamics. o/ S Jr ¥18 | vii
Define ST unit of force. 2wl duiddt st | viii
Q.No.3:  Write short answers to any five of the followings. 5x2=10 2 ez P Lanbie pdits 314U

‘What is meant by Potential energy ?

P LY J"-’-’{ i

Write the mathematical equation of Efficiency.

g b | i

What is meant by artificial Satellites ?

Tl e usd$9* | il

Write the formula of orbital velocity of a satellite revolving close to the Earth.

__gvllr/lifd’ U!ﬁJTJ&MFUJ&;(;Jli\.gJ'}L(‘;J iv

RN

Define force of gravitation.
What are two conditions of Equilibrium? ' 9551 ;',uu‘ o J é /:EI vi
When couple is formed? L K| vis

Write the principle of moments.

by | viii

Q.No.4:  Write short answers to any five of the followings. 5x2=10 Zf ez P Lo Sdits 414U

Define plasma and write its two properties. SN S

Define deforming force and elasticity. ZEy PSS e B |
Define/ State Archemedus principle. ZyJSUmEsts |
Define thermal equilibrium and temperature. EWPSERMAES G| v
‘Write two uses of Bimetallic strip. .._2' el /'%Jlu PRER
Define the rate of flow of heat and write its mathematical form. .4! Pledusigt /L il edr | vi
Why do we wear white or light colored clothes in summer? Sl H LS & np LS| il
Define green house effect ? ."‘;':_Q /‘7 i .:.?.twuf viii

(Part ID) 2.
Note: Attempt any two questions from this part 9x2=18 -2{4/’ :a(..lz&cywruéf el wd

State Law of conservation of momentum and also derive its equation. 1+3 -é]&lf u,pJJu,tg{ugu)w b’,ﬁuﬁ (‘“-) »
5 .“”gp‘" u’ fig U:d/'TJJ 12 ?J oy LJ‘blﬁ’Lxé;c.ﬁ)'fl[_ 0.2ms? Farl sl -¢-10 ms” U}JA’.{I ®)
A car has velocity of 10ms ' . It accelerates at 0.2 ms? for half minute. Find the distance travelled during this time and

the final velocity of the car.

W5 AUir

Find the mass of Earth by law of Gravitation 4 e S WLiasal e LS
5 -g{(,"‘..ﬁ,yfwd:’(.‘;.wé_fé( Fism Suer iz nZ 658 300N $TL | (B)

A man has pulled a cart through 35 m applying a force of 300 N. Find the work done by the man.

W e6:AJir

Why we can use conductors and Non conductors in daily life?  2+2 ¥ B S JE e AL 532
2 b LSE A L4 100°F (WSEedus | B)

Convert 100 °F into temperature on Celsius scale 5
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